AWy

www.aver.com

/////

CAMS520 Pro2

Conference Camera

Quick Start Guide | Z%15/

ZEARE | VRS
= JI0IS| Mode d'emploi
Manual de instrucciones | KpaTkoe pykoBoAcTBO




o o] 1] o 1

- = L= SRR 10
IR S et 19
N SRRSO 28
== 0 S 37
=] [or= 11 46
ESPanol ... 56

PYCCKUM ... 66



English

Package Contents
Camera Unit Remote Control Power Adapter & USB 2.0 Type-B to
Power Plug* Type-A Cable (5m)

=f

(o

M4 x8mm (x2)

TF

1/47-20 L=7.5mm (x2)

* The power plug will vary depending on the standard power outlet of the country where it is sold.

English-1



Overview

l\r\[Ennnr\nn

7

1  Status LED 4 RS232 In/Out Port 7  Kensington Lock
2 IR Sensor 5 DC 12V Power Plug
3 USB3.1TypeBPort 6 PoE Port*

* Power over Ethernet (PoE), compatible with IEEE 802.3AT/802.3AF. Please use CAT 5e FTP cable
(not included.)

LED Indicator

Power on: Blink blue once
Start-up: Solid red

Video mute: Solid orange
Video on: Solid blue

English-2



Installation

1. Connect the camera to power outlet.

Power cord

2. Connect the necessary cables.

[Notes]

B Secure the USB and RS232 cables with attached
SCrews.

B Make sure the cable is well connected to the
connector on the camera before securing the cable.

3. Connect the camera to the computer/laptop.
[Notes]
B Use the USB 2.0 cable included in the package.
B CAM520 Pro2 has the USB 3.1 port which is USB
2.0 compatible.
Maximum resolution/fps for USB 2.0 and USB 3.1
port are shown below.

M-JPEG/fps NV12/fps YUV/fps

USB 2.0 | 1080@/60 fps 720p@/10 fps 720p@/10 fps
480p@/30 fps 480p@/30 fps
USB 3.1 | 1080p@/60 fps 1080p@/30 fps 1080p@/30 fps

English-3




4. Connect Ethernet cable for IP streaming and
remote camera control.
[Notes]
W To ensure stability of IP video streaming, please
use CAT 5e FTP cable.

Switch / PoE Switch

. . Ethernetcable
(Not included)

English-4



Remote Control

c Select [ cxe=s
'Camera Selec 06 e
Camera Directional
Control @@
OSD Menu* &>
Mute/Un-mute*
SmartFrame o(=) (2o uterin-mute
Zoom In/Out © R Volume Up/Down*
L
Q ©
Preset Preset Hot Key
Preset Position
Brightness - Brightness +
Call/Answer Hang up
* Not supported for CAM520 Pro2
B AAA Batteries (required)
B Preset (): The Preset button on the
remote serves 2 functions.
To Save a Preset - Move camera to desired
position. Press and hold the preset button n

until you receive the save message on the
screen. Select preset position button 0-9 to
store the current camera position. Repeat

steps if needed.

To Load a Preset - Press the preset button
and preset position button 0-9 to load a saved

camera position. Repeat steps if needed.

B Press and hold the number button @ for 1

second to turn on or off the WDR function.

B Press and hold the number button “ 5 |” for 1
second to turn on or off the SmartFrame

function.

English-5

Press and hold the number button
for 1 second to enable or disable RTMP

streaming function.

»

Press and hold the number button *
for 1 second to force camera to enter
sleep mode. This will end any video
streaming. To wake up the camera,
press the button or any directional button
for 1 second. This mode is not functional
while USB streaming is on.

CAMERA SELECT

Camera Select (1) (2)(s): If you

only have one camera and do not need
to adjust any setting, the default is
camera 1. If you press camera 2 or 3 on
the remote control, you will find your
remote can’t control your camera. In this
case, please press camera 1 on your

remote again.

SmartFrame (): Press for 1 second
to switch the SmartFrame function
among Manual Framing/Auto Framing/
Preset Framing modes. A message (as
figures shown) will display on the screen

to indicate the mode.

Manal Framing

[Note] SmartFrame deploys face and
body detection technology. People
wearing masks and side facial profiles
can still be detected. The maximum
detection distance is 7-10 meters.

Set up preset points in advance (Only for

Preset point 1-9. Preset 0 is for home
position).



Wall Mount Installation

1.

Use the drilling paper included in the package to drill the holes in the wall where the user wants
to mount the camera.

Use the screws (not included) to secure the L-mount bracket on the wall.
[Note] For cement wall: M4 x20mm self-tapping screws (x4) + Plastic conical anchor
For wooden wall: M4 x20mm self-tapping screws (x4)

Then, assemble the L-mount brackets + with 2 screws (M4 x8mm, included in the
package).
After assembling the L-mount brackets, use the screws (not included) to secure the lower part of
L-mount brackets on the wall.
[Note] For cement wall: M4 x20mm self-tapping screws (x2) + Plastic conical anchor

For wooden wall: M4 x20mm self-tapping screws (x2)
Pass the cables through the hole on the L-mount brackets and connect the cables to
corresponding connection ports.
Use the remaining screws (1/4”-20 L=7.5mm, included in the package) to secure the camera on
the L-mount brackets.

English-6



Making a Video Call

A computer is required to use this device.

1. Open your video collaboration application such as Zoom, Microsoft® Teams, Skype for Business,
Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube, LiveOn, CyberLink U
Meeting®, TrueConf, Adobe Connect, Cisco WebEx®, Fuze, GoToMeeting™, Microsoft® Lync™,
Vidyo, vMix, WebRTC, Wirecast, XSplit.

2. Setthe CAM520 Pro2 as your primary camera device in your application (Please consult your
application setup guide for details).

3. Ready to make a video call.

[Note] CAM520 Pro2 is a Plug-n-Play Conference Camera. The system requires no special drivers. For

advanced setting and firmware update, please download PTZApp 2.

Making a Connection through the Browser

CAM520 Pro2 has an Ethernet port for IP streaming and allows administrators to remotely control and
set up the camera via an internet access. Moreover, CAM520 Pro2 also supports RTSP and RTMP
functions. For more details, please refer to user’s manual or contact our technical support.

1. Make sure the CAM520 Pro2 has an internet access connection.

2. Launch PTZApp 2* () and connect CAM520 Pro2 to PC with USB cable.

You can plug in the USB directly to read the device locally.

Information

No device found

3. The camera default IP address is 192.168.1.168. Click pencil icon () to edit IP address**.

Device IP

DHCP

Confirm

English-7



Click weblink icon (E) to launch Chrome page. Please enter the password (default password is
aver4321).

[Note] The browser supports:
e Chrome: version 76.x or above  ® Firefox: version 69 or above e IE: Doesn’t support

After editing IP address, user can access web settings of the camera with only Ethernet cable
connection. Unplug the USB cable.
The main web screen is displayed as below.

*In PTZApp2, user can change the IP address setting of CAM520 Pro2, configure the parameters of

the camera, set up Al tracking functions and some advanced image settings, pan, tilt, and zoom the

camera. Please refer to the user manual for details.

Please go to https://www.aver.com/download-center (Global & European Headquarters) or

https://www.averusa.com/business/support/ (USA) to download the PTZApp 2. After downloading,

double-click on the file and follow the on-screen instructions to complete the installation.

After installing the PTZApp 2, double-click on the PTZApp 2 icon to run the application.

** To support IP address changes in groups, user can download AVer IP Finder app.

1.

Download the IP Finder from https://www.aver.com/download-center (Global & European

Headquarters) or https://www.averusa.com/business/support/ (USA).
Run the IP Finder.
Click “Search”, and all available devices will be listed on the screen.

=

English-8


https://www.aver.com/download-center
https://www.averusa.com/business/support/
https://www.aver.com/download-center
https://www.averusa.com/business/support/

FEDERAL COMMUNICATIONS COMMISSION

NOTE: This equipment has been tested and found to comply with the limits for a Class A digital device,
pursuant to part 15 of the FCC Rules. These limits are designed to provide reasonable protection against
harmful interference when the equipment is operated in a commercial environment. This equipment generates,
uses, and can radiate radiofrequency energy and, if not installed and used in accordance with the instruction
manual, may cause harmful interference to radio communications. Operation of this equipment in a residential
area is likely to cause harmful interference in which case the user will be required to correct the interference at
his own expense.

FCC Caution: Any changes or modifications not expressly approved by the party responsible for compliance
could void the user's authority to operate this equipment.

This device complies with part 15 of the FCC Rules. Operation is subject to the following two conditions: (1)
This device may not cause harmful interference, and (2) this device must accept any interference received,
including interference that may cause undesired operation.

Warning:

This is a class A product. In a domestic environment this product may cause radio interference in which case

the user may be required to take adequate measures.

This Class A digital apparatus complies with Canadian ICES-003. Cet appareil numérique de la classe A est
conforme a la norme NMB-003 du Canada.

Caution:
Risk of Explosion if Battery is replaced by an Incorrect Type. Dispose of Used Batteries According to the
Instructions.

COPYRIGHT
©2021 AVer Information Inc. All rights reserved.

MORE HELP

For FAQs, technical support, software and user manual download, please visit:
Global: https://www.aver.com/download-center/

USA: https://www.averusa.com/business/support/

European Headquarters: https://www.avereurope.com/download-center/

Technical Support:

Global: https://aver.com/technical-support

USA: https://averusa.force.com/support/s/contactsupport

European Headquarters: https://www.avereurope.com/technical-support/

CONTACT INFORMATION

Global USA European Headquarters

AVer Information Inc. AVer Information Inc. AVer Information Europe B.V.
https://www.aver.com https://www.averusa.com https://www.avereurope.com

8F, No.157, Da-An Rd., 668 Mission Ct., Westblaak 140, 3012KM,

Tucheng Dist., Fremont, CA 94539, USA Rotterdam, Netherlands

New Taipei City 23673, Tel: +1 (408) 263 3828 Tel: +31 (0) 10 7600 550

Taiwan Toll-free: +1 (877) 528 7824 Technical support: eu.rma@aver.com

Tel: +886 (2) 2269 8535 Technical support: support.usa@aver.com

English-9


https://www.aver.com/download-center
https://www.averusa.com/business/support/
https://www.avereurope.com/download-center
https://aver.com/technical-support
https://averusa.force.com/support/s/contactsupport
https://www.avereurope.com/technical-support/
https://www.aver.com/
https://www.averusa.com/
mailto:support.usa@aver.com
https://www.avereurope.com/
mailto:eu.rma@aver.com

BRASY

EESEEMER | USB 2.0 Type-B i
BE* Type-A B4R (5 m)

&
e B4 10 4 BT
(mini DIN 9 & mini DIN 8)
¥V

- “ M4 x8mm (x2)

TF

1/4" -20L=7.5mm
(x2)

*ERAEREEEEERNTESRIEEMANAR -

ZE2P3-10



l\r\[Ennnr\nn

7

1 HREIETRE 4 RS22EA/HUIEEE 7 Kensington BiEFL
2 IREElER 5 DC12V EFiHEE
3 USB3.1TypeB 6  PoE #E#Eg*

iR

*Ethernet fft8(PoE) - & |EEE 802.3AT/802.3AF HE - i5fEH CAT 5e FTP B4R (R=) -

LED #&7R1{E

FRENR : PI%—REER
RED . ERAE

FFRIRER . EREEe
RRFIRSBR . ERER

ZREP-11



RiEEE

1.

2. EEMERER -

[EE]

w EFRBEMAVIRAREIE USB A1 RS232 B4R -

B BEEER A BREAERCIERERIRELN
s -

3. IHERERERTIEM/ETIER -

[EE]

u FEREEPREMAY USB 2.0 EBHE4R -
m CAM520 Pro2 B8 USB 3.1 #&##8 - 0JEL USB 2.0

H/E -
USB 2.0 1 USB 3.1 E#R RIS KA E /fps 1NN PR
7T< o
M-JPEG/fps NV12/fps YUV/fps
USB2.0 | 1080@/60 fps 720p@/10 fps 720p@/10 fps
480p@/30 fps 480p@/30 fps
USB3.1 | 1080p@/60fps | 1080p@/30fps | 1080p@/30 fps

ZREP-12




4. EEIXPBEKLUET IP BREMANERERE
=
[ER]
m SRR IP RAMBRARENY - - CAT 5e FTP
B

ZREP-13

SZIBHE/POEST B

L zimmEs

(R=)



B

mEBE | oo
o 1 EE

=%
) .
SEEET <§%ﬁ>
OSD#eE* &D)
S/ EE

wivmk || © ° | mE/mEEE
.a © n

FRER @ (= FERRRIR G
FERRMIE
=E- =E+
BT/ EE R u

*Az# CAM520 Pro2

B AAA EM(ME)

] ?E%ﬁ() D EES ERRRIZIEE A WMED
BE °
RERR-KREEBERFHUE - ZERRE
it BEIERR LEIRTENR - BERERA
Bl 0-9 RFFZRIRENE - MRFE
FEERLSR -
HATRRR - IR TARIZIMMN BRI E %] 0-9 2KE
ACHEFRRRUE - MRFE  BEELR -

BRI @ J1 LB RUEU IR WDR
THEE -

N REHFRE FEJ 1 MERIFRRE RS2
$EETNEE -

EiEPX-14

wERFEE [ 8 |, 1 BEMEANE
A3 RTMP S2RINAE -
wERFES 0 ), 1908 - Wit
M AR - ERSIETFR AR -
BRRT - EERBEE 1 DEESE
@i - I ARER BRI - Bk
HBIRL USB $/2 S Al I SR E A -
BIEEIE( ) (2) () WRRE—EH
B - CARBEETEMRE - AERE
RIEEE 1 MIRITIEFRE CAOMEE 2 3 3
G RIS RIS - TETE S
R - ABREERE THBE L
mEns(m) R 10E . T8
SmartFrame IhEETEE FEN LR /B EIER/
BREEEET 2RI - 8 L5 IR
—AIA (MBS A S AT, -
[F&] SmartFrame EEREA S iEHE
Fl - B0 S AL B MR 0 E 4R 5560
AEREAE - BAEAERES 7-10
AR -
EESAREERUELERRE Preset
Framing I08E - ERERETRRE 1-9 - 77
3850 2 Home MINIE -



ERRR
1. EREEPENNELAEEREBRERREOEE LHI, -

2. ERBHERR)E L ﬂ&%ﬁ?&@ﬁﬁﬂ%t .
GEE] BRAREE : M4 x 20 mm BIIE44(x4) + BB SEZ &4
IR © M4 x 20 mm B RIR44(x4)

3. A% - A2 EBHMAX8 mm - REEEZE)HELE LA
4. SERAASE L BRRTE - BRBHCRE)R L TR RN T HEEERS
GEE] BRAREE : M4 x 20 mm BIIE44(x2)+ BB &4
HRARE : M4 x 20 mm BHIR44(x2)
5. BBRTE L BTRTE PN - ARSEBRERIAENERS -
6. FEAREBRNBLA(L/4"-20L=75mm  AREEED)IGREETEE L BILRZR E -

o’
o
%
>
N
]

ZREP-15



EITRABER

FEEMT BEERALRE -

1. BIRUERIRHIRIERERRET - A1 Zoom - Microsoft®Teams - Skype for Business - Skype - Google
Meet - Intel®Unite™ - RingCentral - BlueJeans - V-Cube - LiveOn ~ CyberLink UMeeting® -
TrueConf - Adobe Connect - CiscoWebEx® - Fuze - GoToMeeting™ ~ Microsoft®Lync™ - Vidyo
vMix » WebRTC ~ Wirecast ~ XSplit -

2. #% CAM520 Pro2 R EREREANTIRER E-ANBEERRFERFEEFANSFSRENERRE
AR EREmM) °

3. EFETRAEE -

[EE] CAM520 Pro2 ZENERIAMN RN S HIRE - ZRARATERHEEE L - BREERRENIEE

B3 # FE PTZApp 2 -

BB EREIIER

CAMS520 Pro2 EA R IP SREHNZ XBIERS - W ERREBERETEREH TR TS
5 - 15 - CAMS20 Pro2 3 RTSP 71 RTMP T8t - SEE S #ANS - 2B AL T MU RRM
B 32 AR -

1. #&{r CAM520 Pro2 EBREIRER -

2 BE PTZApp 2+(Wd) - #4701 USB @41 CAMS20 Pro2 SSH 5B -

You can plug in the USB directly to read the device locally.

Information

No device found

3.

Device IP

DHCP

Static IP

ZREP-16



4. %ﬁ%%@%gﬁ?ﬁ(“)u%ﬁﬂ Chrome B - F# AR (FERR 255 averd321) -

(8] ATRZE -
o Chrome : 76.x lRAZEL £ o Firefox : 69 fRAZLL L e IE : FAZiE

5. /R IPAILE  EREREEBINEREEEREARRNEERTE - IHH USB &4 -
6. IHRERZEERMOT -

*f£ PTZApp 2 & - fERETLIEN CAMS520 Pro2 # IP (IR TE - BEERIESE - :2E Al BHIINAER
HUEPREERTE - DURIRETE - ERNANE - $ARPA2RERFMH -

FBELMLL : https://www.aver.com/download-center (ZERFIBUM AR
https://www.averusa.com/business/support/ (2Bl) F & PTZApp 2 - T&E 2% - FiZm FxiE%E - 4
BRBEE LRIERIRIESTREZE -

ZHE PTZApp 2 2% - FE1RM T PTZApp 2 B/RLIRITRERE -

HERETERSARmAIMEN IP UBEE - EAETLITE AVer IP Finder BRREL -

1. #https://www.aver.com/download-center (£ ERFERM 42 20) 5k
https://www.averusa.com/business/support/ (2E) F &P Finder -

2. #{TIP Finder -

3. HME THE, aR EILFRBORRE -

(e v =

ZREP-17



https://www.aver.com/download-center
https://www.averusa.com/business/support/
https://www.aver.com/download-center
https://www.averusa.com/business/support/

EXREtZZER

o FREMTFMARFAZIRNVAE -

L] 7F;<H EEMENENRECREREYR -BRENZEERFERWE _JULIEIFE%E'E’]PFF

o MRRRBEAEASM FRENY - BB REABRULESHRIREESR BULEHARESE
S o

® (TUEMMESEM -

o ATLEMAREEMNEM : it - R (K ) NIRE (RiK) BM -

® ATUIREMBEER KRS -

o F7EMEE MG FEE -

IRAEMEZARBREREMNSE T : https://tw.aver.com/page/RoHS

ELERE
EEFRNENER EEAMNRERERE  TESEMHNETE -
EERBBERT  EAZERERRNELBENHR

IR # B &
©2021 BIEBHX MRHEMRA -
&l

ERERE - BiiHE - REEMERAFMTE - AR https://tw.aver.com/download-center

EZEM

BERRRRNBRAS
https://www.aver.com
Hrdbm 23673 LB ALK 157 5% 8 18
B3E © (02)2269-8535

ZREP-18



https://tw.aver.com/page/RoHS
https://tw.aver.com/download-center
https://www.aver.com/

BERAEY

Haﬁ?ﬁﬁﬁﬂ%%ﬁﬂﬂaﬂ% USB 2.0 Type-B &
/
(&)

M4 x8mm (x2)

T¥

1/4” =20 L=7. 5mm (x2)

P YA FLAN AR R, AL 65 T 5/ DX PR s 4 FRL 476 B 1T 5

fifk i 3C-19



l\r\[Ennnr\nn

7

1 LEDIREAT 4 RS232 In/Out ¥ 7 Kensington B4l
2 IRl 5  HEIf 12 V EJERAL

3 USB 3.1 Type B#:I1 6  PoE #:l0*

*PUKMEH (PoE), 5 IEEE 802. 3AT/802. 3AF %5 . i&/# FH CAT 5e FTP £4i (RAIEEN. )

LED #7347

FFIEEIR: NSRRI
Jagh: fHELa

KB ER: HEmEO
TR ER: HLEd

fi e 3220



ZH

L BRI IR AR

2. HEBRIERNRL.

[¥]

W T T BRI 22 [ 72 4F USB 1 RS232 45

W[ RO N H RS R S B L M O AR [ S R

3. KSR /B A T

(]

W (AR N R AL USB 2.0 £

W CAM520 Pro2 $EFHLACH 5 USB 2.0 A HJ USB 3. 1
B,
LAUR 45 RS USB 2.0 fITUSB 3. 1 48 1R Ry R
/fpse

M-JPEG/fps NV12/fps YUV/fps
USB 2.0 1080@/60 fps 720p@/10 fps 720p@/10 fps :
480p@/30 fps 480p@/30 fps £
USB 3.1 1080p@/60 fps 1080p@/30 fps 1080p@/30 fps ' """"""'"'"“U'gE'z%‘%%‘“"“"'"""""“"‘

fafA3-21



4. FEEUAMZS AT IP PARERAREIERE.
(]
W (] CAT 5e FTP 245 LA O) TP A R AR 1k

] A =22

FHR/PoEHR

YN

T raEEm) "



BT

B PR .®@® T
BEA AR <§é§>
OsD#fr |\
SmartFrame °° RE/MREER
o] . © | EEEx/EEE
mom | — = | monEs

=ER-
RET /TR

* /N FF CAM520 Pro2
WA AAA W
m HR((© ) mE G A B e

RIS

SE#+
gEuiis

RAFBB, — K5 BB B BT R . %
T T A R B R RS
B EHBA T 0 - 9 DAL A Y
BULE. IRFHE, EEE AR,
INERBBL — 5 T IFHAE IR 0 - 0 LU
BAEIHE LA B . R, R LA
.
BRI R
5 H WDR Zhfe .
BRI <5 7 1B, LUFREUR
M4 SmartFrame Zhf.

"L DR

it 3 -23

BRS¢ 8 )7 1, LT
JE BRI RTMP iR T g .

prE e <[ 9 )7 LR, DA
L BRIRAL SR, e VT BT 4 LA -
FERE, TR 1Rk
B, SEOUE T R R RAE R, A
HHF I USB 545 4 7 WML R E 1R .
BEIGEAR()(2) () WREH
— G A LB AT E, MBI
HAL L g T B RS I 2
B 3, I RILE RIS R B
S BLIXR L, b R BRI
R 1.

SmartFrame (): TR AR 1 R
TEPE T SHEE / £ S HE i/ T s A PETRE
Z [A1Y) 45 SmartFrame Nt &76 % F&E
TR — 20 B (TR W BT
5.

Manual Framing

[7] SmartFrame SR THI & AR+
Ao I I BB MR A8 AT LLEAT iR
il BRRTNFEE Y 7 & 10 K. EFRE
SE T A X 48 J5 B)) Preset Framing B
fe. IREBLE TS 1 - 9. Tk 072
Home {1137 & o



1.

R

T LG A B FLARLE I P 3 8 e S LR i 46 1L

. AR L CRAFRAE M) # L ﬂﬂ%i?&%ﬁiﬁﬁio

] M F/kUedl: M4 x 20 mm HBUELZ (x4) + BRMETRIKE
SEFARFE: M4 x 20 mm 5 BHRLZ (x4)

3. R, ISR M x 8 mn, DL R) A L B a e (Al L [B],

AL L MG, TR CREFETEN) 7ERE LEE 4 L B 2253030 0 8 .
CFE] SEFKVeHE: M4 x 20 mm HBUELZ (x2) + WRMAELIKE
SFARF S : M4 x 20 mm IR (x2)
PE LB L B2 BRI AL, ARSNGB AT B R
A NEE2 (1/4”7 - 20 L = 7.5 mm, EIEEQLEEN) BIREHLE EE L B2,

i 3 -24



BEAT LR TS

fEF R E FE— G .

1. AETIF BT EE N R, 9140 Zoom. Microsoft® Teams. Skype BNV, Skype. Google Meet.
Intel” Unite™. RingCentral. BlueJeans. V-Cube. LiveOn. CyberLink U Meeting'. TrueConf.
Adobe Connect. Cisco WebEx'. Fuze. GoToMeeting™. Microsoft” Lync™. Vidyo. vMix. WebRTC.
Wirecast Fll Xsplito

2. K CAMB20 Pro2 ¥t B Ay AR T th i B3R AL, 22 50 RURIG 75 25 (VR 40 DR 2 1) 4 FH 2 F R 1
WEIEH

3. lktHTEIJ_IJEﬁMﬁﬁlﬁ%M’E

(] CAM520 Pro2 sk HIG RN I B 2 AR . Z RGN ZRIFIRIIRENFR T o 0T T v 41 B A [

HISEHT, 1 %K PTZApp 2.

i P AR AT R

CAM520 Pro2 E & HF 1P Sy LLRMIFE 11, AI LR H 530 i B 006 X e N SRk AT iz FE 42 il AN L A 138
E. TMH, CAM520 Pro2 7R3C#F RTSP Al RTMP Thfig. WiF T MEE 2 V1, ES R FP FME0REERENT
ST N TE YN

1. iBHI{RE CAM520 Pro2 W5 H IR 4L,

2. JEF PTZApp 2% () I H# CAM520 Pro2 ilid USB k% 5 PC 4.

You can plug in the USB directly to read the device locally.

Information

No device found

3.

Device IP

DHCP

Static IP

Confirm

i fA 3 -25



4. kg by B LT IF Chrome TUR . i\ BT (BRLEHD 2 averd3al) .

(] LRI
® Chrome: version 76.x B{E A e Firefox: version 69 BiF kA e IE: AEF

5. miEse TP LIS, Y R T A DA I ZR 48 B AT U 1 SR L 48 e B . K USB 428,
6.  MTFEFHW TR,

@ Pz convol

*7£ PTZApp 2 W, FI ' AJ LMEDR CAM520 Pro2 [ 1P dhhl, & B ALS IS, W E AT BREZIIREAE
IERPAR BT S, LB HAT PR . R LK. ESE R P T T G S

15171 https://www. aver. com/download—center (4=ERAFINKIM LAHER) B,

https://www. averusa. com/business/support (USA) LL % PTZApp 2. F#Ja, X iftighisE Bn
Tt B T8 %

3% PTZApp 2 J&, i PTZApp 2 BbRistT N AR -

sk B TP MU BB DR RE, 7 ATLAUF 8 AVer TP Finder S HIAER?

1. ifMhttps://www. aver. com/download—center (4xERFINKIH EHE) B
https://www. averusa. com/business/support F#{IP Finder (EH).

2. JZ{TIP Finder.

3. i “Search” (E), hi#i Lot HATA il E I HE.

A 3 -26


https://www.aver.com/download-center
https://www.averusa.com/business/support
https://www.aver.com/download-center
https://www.averusa.com/business/support

| =)

©2021 FJEAH REUTE -

BEREHMZLEER

® NG I AR I RS TR E .

® AN E RN I B R ERF Y 5K i ith 35 B R E B AL, B3 [A] S W S R E .
® IR AER i, EEHLEH . IR SR R RSN RS, BU LT FER
o

AT IR B 1H H

TR SR o Bk bRdE (BRdE) sinf 7o CERAR) Wit

AT E T E T KA

i ) Sk Ak HE T TR K

5 B

HiAR BB, BARCH . WA A T3, 1M EL:  https://cn.aver.com .

ER&ER

[ JEE Ak

https://www.aver.com
B LR IX K22 % 157 5 8 #%

Hifi: (02)2269-8535

e A =27


https://cn.aver.com/
https://www.aver.com/

IWr—IRAE

ﬂﬁ?’)“j& USB 2.0 5—7)L(5 m)
iﬂﬁ %WU{]J Type_B / Type_A

Mini DIN9 to MinDIN8 RS232 E;ﬁg;ﬁ - "
\
n‘

M4 x8mm (x2)

TF

1/47-20 L=7.5mm (x2)

“BRISTOTKIE . BESNBHEOI Y MERIINRENET

H AGE-28



;
1 iKEEFR’R LED 4 RS232 AHhImF 7  Kensington 09
2 FRIMRZIER 5 DC12V ERE:AO0
3 USB ¥ 6  PoE XFG*LAN i F*

(USB3.1 Type B)

* K& T D Power over Ethernet plus (PoE)ld IEEE 802.3AT/802.3AF (ZEEMLFET,
*PoE $ABHRIREUER R/, CAT 5e FTP =7l GERME) &FEAL TS,

LED 41 I5—4

BRIV - FHR
REEIRF IR AT
EFAHABL ALY IRAT
EFAH AR FERLT

HAGE-29



HMBORE
1. HBRERPYTSEERAL MASARELET,

2. HERATII-JINEREHLET,

CE]

W USB-RS232 r—J Ut E* VEEALEE LET,
B 5—JI R ITEET BRI, BT—TIVHDAS DR
FICIE LGER SN TR ZEEREEE L TS,

3. HASEIYIVE USB T—TIVTEHLET .

CE]

m ){yr—YRED USB r—JILEFERALET,
B CAM520Pro2 [ USB 2.0/USB 3.1 TEIELZET .

-USB 2.0/USB 3.1 #fnls BRAETARGE

IR T M-JPEG NV12 YUV

USB 2.0 1080@/60 fps 720p@/10 fps 720p@/10 fps
480p@/30 fps 480p@/30 fps

USB 3.1 1080p@/60 fps | 1080p@/30 fps | 1080p@/30 fps

H AGE-30

usBr—JI



4 IPWBEERATSES. DIATHRED LAN iHFE,
Ry FI—=HIHEETHED LAN 37 F% LAN 5—F )l
(GERHE) THEHELET.

CE]

B RELEIPETARBERGETIRD.

CAT 5e @ LAN 5—F)Va{E A LTS,

24 9F / PoE 24vF

R s
TN RS

HAGE-31



BEVEIY

AASDEIR

Enterk

DASDE HEHEH

OSDAZ1—%*
— 22— b/31— MERR*
A=LAV/F—b e/ Ex
Tutyk wy b F—0TE
| BTty
PEEE - 1B +
UL/ EE BEERRT

* CAM520 Pro2 Tl fERALEBA.

UEIVOfEAICE B sz ith (FERIR) B ETY

B evh(© ) ey ERCERLET.
Ty bORE - BEISAYE-IHERTINDE
T, JUEY MRAVERLGIET TUEy MEBR
8V 0-9 OVTNHERTE, BLEHFRIVIC
THASLE - A~ LMERIFMRESNET .
BHONASLBEERTEHE . LT FIEERED
BU. EHFRIVCHASHBERE LTS,
Ty O - FUty MRV EEGRL, Tt
yIMEBRREHORERIY 0-9 BHTE RE
SNEMTAASHE - A— LER KEFHENET

m ey 1] 1% 1 RERL—WOR 07
V/ATEFNET,

W gFERa 5 151 BEEMLT, 27— L
LB/ ATEITVET

A A

B HFREI 8 | 1% 1 BRIRMLT. RTMP
WREDA /A TEITVETS

BRIV 9 )E 1 BREIEMLT. HATH
BWHIMICRI—TE— FEBD, TATOLTH
HABEELET  AU-THBERTBIC
. KEVELS— [ 1 BRERLLET,

USB BRRH 150 . AHEEEIL R(CHNET

B DASOBR(1)(2) () HATH 1 BOB
THNFBRERTETT, T4 MNENAT |
[CRESNTOET . TI1) FORETHNS
2 $1ld 3 BT L IASRHBTELMHNG
FOT, UEIVTHAT | EBEML TGS
Lo

B 27— IL— L)1 R CET, A7
— M- LSRN FBIIL—-3V/ BEIL
=IVH/TVEY IR T E- BRIYINEE
DNFET  DATMIRIC, BIEDE— FERT A
yE—INRFENET, (FRSHR)

Manual Framing Auto Framing Preset Framing
[(E] RAR—F 7L — LR R8I RER
HASHLHEEARDIERL 7 ~10m FEE
<7,

B H Ty M EERE L THEL
(FUEyMIEE 1 -9 0B, Tty h 0 BiK
—LRYVaVA).

32



BREALEII OB AR

1.

2.

= JRMEDNRERITEHESE(C, DASERETSISFROEICNERTEY.

2UGEHBET L-vov Iy Als s cms LEs
GE] tTAVMEDIZEE M4 x 20 mm AYEVTR LK) + TS5AFYOAET7 I D—
ARBEIBEDIZE M4 x 20 mm AVEV TR L (x4)

3. LYoV |~ + E2ARKDRI(MA x 8 mm, (B THAESHEET,
4. L-ROVNIShyMAEDER. RYCERBRIT L-IIY NS5y MO T ER R ICEE LET,

[E] EAVIEDZ S M4 x 20 mm 39EVTRU(2) + TSAFYOAMTH—
RBBEDIZA M4 x 20 mm AYEY TR U(x2)

T=JIWVE L-YOV IS0y bORISEL. BT—TIVENASOIHFICHERLET .

EODXI(1/4” - 20 L =175 mm, FER)T. DAS%E L-YVV MNIITy MCEAELET -

H AGE-33



BAOERAE

ARROFEAICE, SNVIVDEBEEEDET,

1. EATZ/VIAVENATENE USB T—JIVTHER L. IASEFERTI7 I —YavEegLET.

2. FERT7TVT—av0OFT N AR TEICT CAM520 Pro2 #E AT 3 HASELTRIRLET . GERIZE 7TV —
DAVDERFEAM FEISBIEEI,

3. INTHATEFERATIEMRITT T,

[E] CAM520 Pro2 (&, 7507V RTLACERLTHN. R NDEMA VA M-I EBLEELE B,

BT - 77— LI PEHEITSIEE . PTZApp 2 %4t HP LnFuvO—F-A YA F—=VLTRIBECEEL,

TV R TOES

CAM520 Pro2 [CIE IP 2 M)—ZV T DM —H 2y bR— MUMEEEIN TSN, IP 2y bI—DIEBHTHASE)E— M
#-BELEEETOIENTEET, 2 CAM520 Pro2 I3 RTSP LU RTMP #48E(CHIELET .
BEMICOWTIE, Y- ZaT I EISEBIZE,

1. CAM520 Pro2 BMERT 3 IP 2 FI—DITHERESN TS BRI,
2. PTZApp 2% ()EEEJJ L. CAM520 Pro2 % USB 5 —JJL T PC [CHEHLET,

You can plug in the USB directly to read the device locally.

Information

No device found

3.

Device IP

DHCP

Static IP

Confirm

HAGE-34



8. 9199071308 ED )T BE. Web TFHFDA—IHEBILETOT.
094 VIRAD— FEA LTSN, (FZ4) bDISAT— Fid averd321 T,

GE] ®ET50Y:
® Chrome:/)¥\—33Y 76.x FEITENLUFE o Firefox: /\—Y3v 69 FhFEFNLIE
o IE: JEXE

5. IPPRLARRER. IP xvrI)—DEATOHBRER-JICPIUEATEET  USB T—JIL &S LTUIZE L
6. VIJEEEEQRTEOLICKRRENET.

Cam520 Pro2

B PrziRte

*PTZApp 2 Tlk CAM520 Pro2 D 1P 7 RUARRENDE B DASDFHMHRE . BEMESLUVEE DFMEKRE.
AASDINY - FIV b A= LEREEITICENTEE T, MOV TIA—H—v a7V el S B,

PTZApp 2 (&, https://jp.aver.com/download—center £DAvO— RVERITET,

Hovn— k&, BIEICRTSNBIERICEN. A VAL ERTUWESL,

PTZApp 2 DAVA =)Lk, PTZApp 2 PAIVEATIND )9S BE. 7TIT—avni e LEd,

*x[E]— LAN A TD IP 7 FLAZEREICIE, AVer IP Finder 77U FIFAIZEL,
IP Finder | https://jp.aver.com/download—center &DA™HYO— FVEREITET .
1. IP Finder®R1TLFT,

2. TRFIEDIYDTRE. MAEIEELG T )M AP BE@EICR RENET,

H AGFE-35


https://jp.aver.com/download-center
https://jp.aver.com/download-center

EEE

©2021 AVer Information Inc. All rights reserved.

ot dYAR—F

LHRERM. BFATYR— b, VI bI17, I-Y—-I 22 7IN0SHY0—- RITOEFELTIE,
B2t HP LNHRNEHECIZEL, http://ip.aver.com

COEEER.DSAARBTT, CORELFERETHATILERBTESISRITIELNHNET,
OGS FERENENLANRERETILIBERENEELEHIET, VCCI-A

EEWVWEDHESE

PN= AV A= DavtkREH EIRAYV1—YaVEEE
Email VCInfo.JP@aver.com

H AGE-36


http://jp.aver.com/
mailto:VCInfo.JP@aver.com

oKl U2
USB 2.0 Type-B to
E0x Type-A FH0IE(5 m)

M4 x8mm (x2)

TF

1/4” =20 L=7.5mm
(x2)

HY 2HEW et TELIC.

]
i
2
o
@



M

Ar\?nnnr\nn

7
1 &EHLED 4 RS232 ¥/&™E ZE 7 AAE
2 IRAA 5 DC 12V dA 221
3 USB3.1TypeB ZE 6 PoE EE«x
* I 28 0¥ Z2{A(PoE), IEEE 802.3AT/802.3AF S & . CAT 5e FTP AH0ISS
Ol S5 AI(ZH)

¥ HD| ¢ DMz B B ZEY
A& o Bt oZ HE

HIOR SaH : =M
HICI HI| @ Hetae

]
i
2
o
(09}



DN

1. JHHI2HE E3 2HE

2. ZQE 0SS HBSNAIR.

[&1]

B USB 2 RS232 AN 0I=ES SSE
J_ooV\'/\IQ

BI0IES 1Z

nkSie Pl
HUYEN 2 H2HU=X =

3. JlHIZE BRE/=ES0 H2GHAAR.
[&2]
B X0 Z&E USB 2.0 A0S
Ol SotEAIL.
W CAM520 Pro2 = USB 2.0 &t S &&= USB 3.1

EEE 2D AsU.

UsB2.0 & USB3.1 LES
Gt 2Lt

ZIH H&tS/fps =

M-JPEG/ fps NV12/fps

YUV/fps

USB 2.0 | 1080@/60 fps 720p@/10 fps

720p@/10 fps
480p@/30 fps 480p@/30 fps

usB 3.1 1080p@/60 fps | 1080p@/30 fps

1080p@/30 fps

]
i
2
w
«©



ARIX| / PoE ARAIXI

P AEEIY &

4.
olEs AA5H
[&2]
B P HICIR AECIYS tENHE &S|
25l AILR
10144 Aols H
S (=)

?Ioil CAT 5e FTP H0IE2 Ol

]
i



cl2&

e = | See |y,
Sttt wa Mol _@%?@
0SD Ol &=* @
SA%/8A

ADIEZY Y oﬂ..-

H o M

= 01/0 g 2elJl/ueldl«
oA Dol g ool
?IXl
Sl
s&/s€
% CAMS20 Pro2 OI X2
B AAA HHES2I(Z2)
mooea (@) 2ieeel Zpia HES 2
X JIsS BLICH
DM HE - SHHSHE Bots SRR
SHQLICH. S0 HZ HAIXIL BAIS
WX DA HES ZH S24NQ.
T2l 9K HE 0- 98 Hestol ST
e AKE HESAAIR. B8 HL
SHE BEFAAIR.
T D] - Z2lA HED Zals
AX HE 0 - 98 =2 HTE Stuiet
AXE BYLWAIL. BRS YD SHE
HHE5IAAI .
WX HE " (1] 8 1% S =2 IR
52 AU DAL
mETHE " 5|78 1% S9 =
SmartFrame JIS€ AL LYAIL.

o
H
2
2

B =X HE ©

RTMP JISS &4 =totH
HIZ2&E3IGHYAIL.

FHEH H8 () (2)(3):
8 CHolm #FOl g%m
j|E A—lX—IO j|'[H|E,|'
2122A0 Al St0iet 2

cl22101 JtHctE MOE = U
gut. ol 3=0es d2ZH0A
Jthiet 12 OAl =24A2.
SmartFrame ((21]): 1= S0t =2

e AL
Ss= _l_%

Smar tFrame 2|

Zgolgd/xts ZYolY /M EF
T 0I1Y2E SO0A SEHELICH

HAIXI (D=2 BIAIK) I SHA O
HANZO 228 LIEHSLITH

Manual Framing Auto Framing Preset Framing

[1] SmartFrame 2 42 & AIH 2X
Jl=2 HggLUt. tA3E &
AEOILE & =22 20l MEE
22X = UASLICH =0 24X Hels
7 - 10 OI&{QLICt.

ZelA ZolEES Ol2l dFELICH
(D2l HOIE |- 90 Y. Z2A
02 & ZX&LYLICE.)



eH

—/

3 OI2E €X

2K ZeE E2E HOIHE O0/Eot:H SthlcetE H& ot ot HE0 RYE

S8R,

A E 01250l L-tee =aaAlz sy DEsaAle.
[ZD] AIPIE S0 WA x 20 mn &I EHE LIAF (xd) + SoIAS 28 o3
ST = ML x 20 mm A EHE LIAF (x4)
teo L-orze sa2A] 4 Blg o e Gatma x 8 m, mIIT0 =2)2

[ZD] AMUHE %H: M4 x 20 mm 2T EHE LIAF (x2) + BCtAE Ax=E W
STH = M4 x 20 mm AT EHE LIAF (x2)

. HOIES L-0I2E et 722 SHAIA A0I2S A0S s A2 ZE

HAEGHAAL.

. LA LEAR(1/47 - 20 L = 7.5 mm, TIIXI0 S&)E 018560 Jt0ictE L-0IRE Eet2lol

DEGHYAIL.

51201-42



statESst obJl

0l XIE 0l3otHAH AFEHI 2ELICH

1. Zoom, Microsoft” Teams, Skype for Business. Skype, Google Meet, Intel” Unite™, RingCentral,
BlueJeans, V-Cube, LiveOn, CyberLink U Meeting”, TrueConf, Adobe Connect, Cisco WebEx',
Fuze, GoToMeeting™, Microsoft” Lync™, Vidyo, vMix, WebRTC, Wirecast, XSplit S HICI2
S8 HE2AH0ES KA.

2. OHZc2IAHOIE0A CAM520 Pro2 € JI& Jt0ich, 01013, ALl X2 HFotAAIL (KHAIS
LHEE 0I&dtAl= OHEcIA0ol&ES 83 oHUHE FZoHYAIR).

3. SASHE & ZHIOt =ASLICH

[21] CAMS20 Pro2 = 2211 o S0l gal HHeiA StHtLICH O AIAENE 229

CeloIdoF 25K #sUc. Is 43 & B0 SU0IEE PTZApp 25 U2 ESNAIL.

ScfME Sl HZot)l

CAM520 Pro2 = IP AECIYE Ol EEDJ UAL2H 22Xt IHY &8 Sof 222

JtHietE Moiot) 8&&g &= ASLICH. E8t CAMS20 Pro2 = RTSP & RTMP J1sE XI&ELICH.
g

M
TtAIsH g2 AMEHIBANE EXSIAINL M3l DIz X2 2AHFAAL.

1. CAM520 Pro2 ot IEIH0Il BSEUASK QIGHYAIL.

2. PTZApp 2* ( P@ £ 235t CAM520 Pro2 £ USBZ PC Ol HZSINAIR.

You can plug in the USB directly to read the device locally.

Information

No device found

3. Jthi2te JlE IP =A= 192.168.1.168 Y LICH. HE O}OIE‘( )2 226t IP =4S
X

Information Device IP

DHCP

Static IP

Confirm




4. @3 OPOIJ“’—(N)% %"%‘6}04 Chrome HIOIXIS A™MGIAAIL. HIUHSE
UAJMAIR(I2 HILHSE averd321 2LICH.
1] X BetHM:
Chrome: HH& 76.x Ol&h e Firefox: BHH& 69 0l& e |E: OIXIA
5. IP =4S HAEGHH AEXOF OIS HOIE HZZ0F JtHetel & SF0 58 +
USLICH. USB AHOIE 22l.
o

6. O0IQ & 3IH2 Ooteiet 201 BEAISUC.

—

kJ
u
=2
o

* PTZApp 2 I AL Xt= CAM520 ProZ—J P =4 8&8E HEG OH

U0, Al EcHZ Jls ¥ D= 0I0IX &£F, Jtiictel ™, €€, 58 838 & USLICH
THHIEE g2 A8 AE*E—',:‘A-IE ’é‘?F.oV\'AIQ.
https://www.aver .com/download-center (22 & R XA
&€= https://www.averusa.com/business/support/ (0l=)Z 0| S35t
CI22E = MtYs OS2 26t atY Ao ool et 8XIE 228Ut

PTZApp 2 S XISt & PTZApp 2 OIOIE2S S 2560 MHE2IH0IES ASSLICH

»* 8 P T4 HES Kot ol Aver IP Finder 22 CH2ZE56Hal & USLICH
1. IP Finder=https://www.aver.com/download-center (224 ¥ =& II—.)

£ =https://www.averusa.com/business/support/ (0I1=)0A Ct2 )
2. |P Finder "'3“.

3. ‘UM =
. o= =

t

Oll



https://www.aver.com/download-center
https://www.averusa.com/business/support/
https://www.aver.com/download-center
https://www.averusa.com/business/support/

©2021 AVer Information Inc. All rights reserved.

SHOIXIE HXotMK:

Fh &3
FAQ, DIz XIg, 2AZEF0N Y A2 2N UREEE US
https://www.aver.com
Ab 8 X et L 2
0 J0l= SR E SHA0A A2 SHCZ NgLdIts &2 JIJIZ2A
JHEE SN AMEots 22 dXItEe 24 UASLICH
¥ ALER CHERR2 "'YRE LSSAIIM"NL HEELICH

&g AERHU 2
0l 101 EREAS) ANIAESIIIZA =
= ) Xt E£= AMEXt= 01 B8 F2G6HAIDI diet
(ERE YESSAIIXM) O, JtE2e XF0A AtZots S8 SHLZE
LICH

o
i
2
L
(6]



https://www.aver.com/

Francais

Contenu de I'emballage

Adaptateur
Module caméra Télécommande secteur & Prise
d’alimentation*

Cable USB 2.0 de
type B a type A (5 m)

Supports de
montage en forme Vis de montage

: =

M4 x8mm (x2)

TF¥

1/4°-20 L=7,5mm
(x2)

Cable adaptateur Mini
DIN 9 a Mini DIN 8 RS232

Carte de code
QR

* La prise d'alimentation différe en fonction de la prise de courant standard du pays d'achat.

Frangais-46



Vue d’ensemble

l\na]nnnr\nn

7
1 Voyants d’état LED 4  Port E/S RS232 7 Dispositif antivol
Kensington
2 Capteur IR 5 Prise d’alimentation
DC 12V

3 PortUSB3.1detypeB 6 Port PoE*

* Alimentation par Ethernet (PoE), compatible avec IEEE 802.3AT/802.3AF. Veuillez utiliser un cable
FTP CAT 5e (non inclus).

Indicateur LED

Mise sous tension: clignote une fois en bleu
Démarrage: rouge fixe

Muet vidéo: orange fixe

Vidéo sur: bleu uni

Frangais-47



Installation

1. Branchez la caméra sur le secteur.

2. Raccordez les cables nécessaires.

[Remarques]

W |Les cables USB et RS232 doivent étre sécurisés a
I'aide des vis placées sur les prises.

B Assurez-vous que le cable est bien connecté au
connecteur de la caméra avant de fixer le cable.

3. Connectez la caméra a I'ordinateur de
bureau/portable.

[Remarques]

B Utilisez le cable USB 2.0 inclus dans I'emballage.

B La CAM520 Pro2 possede un port USB 3.1
compatible avec 'USB 2.0.
Résolution maximale/fps pour les ports USB 2.0 et
USB 3.1 tel indiqué ci-dessous.

M-JPEG/fps NV12/fps YUVi/fps

USB 2.0 | 1080@/60 fps 720p@/10 fps 720p@/10 fps
480p@/30 fps 480p@/30 fps

USB 3.1 | 1080p@/60 fps 1080p@/30 fps 1080p@/30 fps

Frangais-48



4. Connectez un cable Ethernet pour le
streaming IP et le contréle a distance de la
caméra.

[Remarques]
W Veuillez utiliser un cable FTP CAT 5e pour assurer
la stabilité du flux vidéo IP.

Frangais-49

Commutateur /
commutation PoE

. Cable Ethernet _

(non fourni)



Commande de la
direction de la caméra

Cadrage intelligent

Télécommande

Sélection caméra .® @ @

Touche Entrée*

Menu OSD*
Muet*

Zoom AV/AR R Volume +/-*

Préréglage . Touche de

j Position

Luminosité +
L]
. Raccrocher

Luminosité -
Appeler/répondre

* Pas pris en charge pour la CAM520 Pro2
B Piles AAA (requises)

B Préréglage () : La touche de préréglage
de la télécommande assure 2 fonctions.

Pour mémoriser un préréglage - Déplacer la
caméra a la position souhaitée. Appuyez sur
la touche de préréglage et maintenez-la
enfoncée jusqu’a ce que vous receviez le
message de mémorisation a I'écran.
Sélectionnez la touche de position préréglée 0
- 9 pour mémoriser la position actuelle de la
caméra. Répétez cette opération si
nécessaire.

Pour charger un préréglage - Appuyez sur la
touche de préréglage et sur la touche de
position préréglée 0 - 9 pour charger une
position de caméra mémorisée. Répétez cette
opération si nécessaire.

Appuyez sur la touche numérique «@»

pendant 1 seconde pour activer ou désactiver
la fonction WDR.

Appuyez sur la touche numérique «@»

pendant 1 seconde pour activer ou désactiver
la fonction Cadrage Intelligent.

B Appuyez sur la touche numérique «
» pendant 1 seconde pour activer
ou désactiver la fonction de streaming
RTMP.

B Appuyez sur la touche numérique«@»
et maintenez-la enfoncée pendant 1
seconde pour forcer I'appareil photo a
passer en mode veille. Cela coupera
tout le streaming vidéo. Pour le réveiller,
appuyez a nouveau sur le bouton
pendant 1 seconde ou appuyez sur le
bouton de direction. Cela ne fonctionne
pas lorsque la diffusion USB est activée.

CAMERA SELEC

B Sélection caméra (@ (2) @) : Si

vous n’avez qu'une caméra et n'avez
rien a paramétrer, la caméra par défaut
est la caméra 1. Si vous appuyez sur
caméra 2 ou 3 sur la télécommande,
celle-ci ne commandera pas votre
caméra. Dans ce cas, réappuyez sur
cameéra 1 sur la télécommande.

B Cadrage Intelligent (): Appuyez
pendant 1 seconde pour faire basculer la
fonction Cadrage Intelligent entre les
modes Cadrage manuel/Cadrage
automatique/ Cadrage prédéfini. Un
message (comme indiqué ci-dessous)
s’affichera a I'écran pour préciser le
mode.

[Remarque] Le Cadrage Intelligent
utilise une technologie de détection du
visage et du corps. Les personnes
portant des masques ou dont le profil
facial est latéral peuvent tout de méme
étre détectées. La distance de détection

Frangais-50



Frangais-51

maximale est de 7 a 10 metres.
Configurez les points préréglés a
I'avance (Uniquement pour les points
préréglés 1 - 9. Le préréglage 0 est pour
la position d'origine).



Installation murale

1. Utilisez le dessin de pergage fourni dans I'emballage pour percer les trous dans le mur ou vous
voulez installer la caméra.

2. Utilisez les vis (non fournies) pour fixer le support de montage en L au mur.
[Remarque] Pour un mur en ciment : Vis autotaraudeuses M4 x 20 mm (x4) + chevilles coniques
en plastique
Pour un mur en bois : Vis autotaraudeuses M4 x 20 mm (x4)

3. Assemblez ensuite les supports de montage en L + avec 2 vis (M4 x 8 mm, fournies).
4. Aprés avoir assemblé les supports de montage en L, utilisez des vis (non fournies) pour fixer la
partie inférieure des supports de montage en L au mur.
[Remarque] Pour un mur en ciment : Vis autotaraudeuses M4 x 20 mm (x2) + chevilles coniques
en plastique
Pour un mur en bois : Vis autotaraudeuses M4 x 20 mm (x2)
5. Faites passer les cébles par le trou des supports de montage en L et connectez les cables aux
ports de connexion correspondants.
6. Utilisez les vis restantes (1/4” - 20 L = 7,5 mm, fournies) pour maintenir la caméra sur les supports
de montage en L.

Frangais-52



Effectuer un appel vidéo

Un ordinateur est nécessaire pour utiliser ce périphérique.

1.

3.

Ouvrez votre application de collaboration vidéo tel Zoom, Microsoft® Teams, Skype for Business,
Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube, LiveOn, CyberLink U
Meeting®, TrueConf, Adobe Connect, Cisco WebExX®, Fuze, GoToMeeting™, Microsoft® Lync™,
Vidyo, vMix, WebRTC, Wirecast, XSplit.

Définissez la CAM520 Pro2 comme votre caméra, microphone et haut-parleur principal dans
votre application (Veuillez consulter le guide de configuration de votre application pour plus de
détails).

Vous étes maintenant prét a effectuer un appel vidéo.

[Remarque] La CAM520 Pro2 est une caméra de conférence préte a I'usage. Le systéeme ne
nécessite pas de pilotes spéciaux. Pour les réglages avancés et la mise & jour du micrologiciel,
veuillez télécharger PTZApp 2.

Etablir une connexion par le biais du navigateur

La CAM520 Pro2 dispose d’un port Ethernet pour la diffusion en direct via IP et permet aux
administrateurs de contréler et de configurer la caméra a distance via un acces Internet. La CAM520
Pro2 prend également en charge les fonctions RTSP et RTMP. Veuillez consulter le manuel de
I'utilisateur ou contacter notre support technique pour plus de détails.

1.

2.

Assurez-vous que la CAM520 Pro2 dispose d'une connexion d’accés a Internet.

Lancez PTZApp 2* () et connectez la CAM520 Pro2 a I'ordinateur avec un cable USB.

You can plug in the USB directly to read the device locally.

Information

No device found

Frangais-53



3. L'adresse IP par défaut de la caméra est 192.168.1.168. Cliquez sur I'icone du crayon (n) pour

@ Device IP

DHCP

modifier 'adresse IP**.

Information

Static IP

Confirm

4. Cliquez sur 'icone du lien a Internet (E) pour lancer la page Chrome. Veuillez entrer le mot de
passe (le mot de passe par défaut est aver4321).

[Remarque] Le navigateur prend en charge :
® Chrome : version 76.x ou supérieure @ Firefox : version 69 ou supérieure e IE : Pas pris
en charge

5.  Apres avoir modifié 'adresse IP, 'utilisateur peut accéder aux paramétres web de la caméra avec
une connexion par cable Ethernet uniquement. Débranchez le cable USB.
6. Lécran principal du site Internet s’affiche comme suit.

* Dans PTZApp 2, I'utilisateur peut modifier le réglage de I'adresse IP de la CAM520 Pro2, configurer
les paramétres de la caméra, mettre en place des fonctions de suivi grace a I'lA et certains paramétres
d’'image avanceés, effectuer des panoramiques, des inclinaisons et des zooms de la caméra. Veuillez
vous référer au manuel de l'utilisateur pour plus de détails.

Veuillez vous rendre a https://www.aver.com/download-center (Siége mondial & européen) ou
https://www.averusa.com/business/support/ (USA) pour télécharger I'application PTZApp 2. Aprés le
téléchargement, double-cliquez sur le fichier et suivez les instructions a I'’écran pour terminer
l'installation.

Aprés avoir installé PTZApp2, double-cliquez sur son icone pour lancer I'application.

Francais-54


https://www.aver.com/download-center
https://www.averusa.com/business/support/

** Pour prendre en charge les changements d’adresses IP dans les groupes, I'utilisateur peut
télécharger I'application AVer IP Finder.
Téléchargez IP Finder a partir de https://www.aver.com/download-center (Siége mondial &
européen) ou https://www.averusa.com/business/support/ (USA).

1.

Lancez IP Finder.

Cliquez sur « Recherche », et tous les périphériques disponibles seront listés a I'écran.

Sa =

Cet appareil numérique de la classe A est conforme a la norme NMB-003 du Canada.

©2021 AVer information Inc. Tous droits réservés.

Aide supplémentaire

Pour la FAQ, l'assistance technique et le téléchargement du logiciel et du mode d'emploi, veuillez

visiter : https://www.avereurope.com/download-center

Coordonnées de contact

Mondiales
AVer Information Inc.
https://www.aver.com

8F, No.157, Da-An Rd., Tucheng Dist.,

New Taipei City 23673, Taiwan
Tel : +886 (2) 2269 8535

Siége européen

AVer Information Europe B.V.
https://www.avereurope.com

Westblaak 140, 3012KM, Rotterdam, Pays-Bas
Tel : +31 (0) 10 7600 550

Assistance technique : EU.RMA@aver.com

Frangais-55


https://www.aver.com/download-center
https://www.averusa.com/business/support/
https://www.avereurope.com/download-center
https://www.aver.com/
https://www.avereurope.com/
mailto:EU.RMA@aver.com

Espafol

Contenidos del paquete

Adaptador y

Conector de Cable USB 2.0
fuente de Tipo-B a Tipo-A (5 m)

alimentacion*

Unidad de Camara Mando a distancia

M4 x8mm (x2)

TF

1/47-20 L=7,5mm (x2)

* El conector de fuente de alimentacion variara dependiendo del enchufe estandar del pais donde fue
vendido.

Espafiol-56



Vista general

l\r\[Ennnr\nn

7
1 LED de estado 4  Puertde 7 Bloqueo
entrada/salida RS232 Kensington
2 Sensor IR 5 Conector de fuente de
alimentacién DC 12 V
3 Puerto USB 3.1 6 Puerto PoE*
Tipo B

* Fuente de alimentacién sobre Ethernet (PoE), compatible con IEEE 802.3AT/802.3AF. Por favor, use
el cable CAT 5e FTP (no incluido.)

Indicador led

Encendido: parpadea en azul una vez
Inicio: rojo fijo

Silenciar video: naranja fijo

Video encendido: azul fijo

Espafiol-57



Instalacion

1. Conecte la camara al enchufe de la fuente de
alimentacion.

i " S 4
Cable de alimentacion

2. Conecte los cables necesarios.

[Notas]

B Asegure los cables USB y RS232 con los tornillos
correspondientes.

B Asegurese que el cable esté bien conectado al
conector de la cdmara antes de fijar el cable.

3. Conecte la camara al ordenador/portatil.

[Notas]

B Use el cable USB 2.0 incluido en el paquete.

B CAM520 Pro2 tiene el puerto USB 3.1 que es
compatible con USB 2.0.
La resoluciéon maximo/fps para el puerto USB 2.0 y
USB 3.1 se muestran a continuacion.

M-JPEG/fps NVA12/fps YUV/fps
USB20 |1080@/60fps | 720p@10fps | 720p@/10 fps
480p@/30 fps | 480p@/30 fps Cable USB
USB 3.1 | 1080p@/60 fps 1080p@/30 fps 1080p@/30 fps

Espafiol-58




4. Conecte el cable Ethernet para el streaming
IP y el control de camara de forma remota.
[Notas]
B Para asegurarla estabilidad del streaming de video
IP, por favor use el cable CAT 5e FTP.

. _ . Cable Ethemet %
(No incluido)

Espafiol-59



Mando a distancia

Seleccionar Camara
Control direccional
de la camara

Menu OSD* |

| Entrar”

Silenciar/

No silenciar*

SmartFrame |

o o) | Subir/
Acercar/Alejar Zoom o Bajar volumen*
a «| | Tecla Acceso

Preconfig Directo a Preconfig.
Posicion
Preconfig.
Brillo - Brillo +
Llamada/Respuesta Desconectar

* No es compatible con CAM520 Pro2
B Pilas AAA (requeridas)

B Preconfig. (): El boton preconfig. en el
mando a distancia tiene 2 funciones.

Para guardar un preconfig. - Mueva la
camara a la posicion deseada. Mantenga
pulsado el botdn preconfig. hasta que reciba
el mensaje de guardado en la pantalla.
Seleccione el botén 0 - 9 de posicién de
preconfig. para guardar la posicién actual de
la camara. Repita los pasos si fuese
necesario.

Para cargar una preconfig. - Pulse el boton
Preconfig. y seleccione el botén 0 - 9 de
posicién preconfig. para cargar una posicion
guardada de la camara. Repita los pasos si
fuese necesario.

B Mantenga pulsado el botén de nimero
“ ” durante 1 segundo para activar o

desactivar la funcion WDR.

B Mantenga pulsado el botén de nimero
“ 5 | " durante 1 segundo para activar o

desactivar la funcion SmartFrame.

B Mantenga pulsado el botén de nimero

“ " durante 1 segundo para activar

o desactivar la funcion Streaming RTMP.

B Mantenga presionado el botdn numérico
“ @ ” durante 1 segundo para forzar
a la camara a ingresar al modo de
suspension. Cortara toda la transmisiéon
de video. Para despertarlo, presione el
boton durante 1 segundo nuevamente o
presione el boton de direccion. No
funciona mientras la transmision USB
esta activada.

CAMERA SELECT

(2) @): Si
solo tiene una camara y no necesita
realizar ninguna configuracion, la
camara 1 es la predeterminada. Si pulsa
la camara 2 o 3 en el mando a distancia,

B Seleccionar Camara (

descubrird que su mando a distancia no
puede controlar su camara. En este
caso, por favor pulse de nuevo camara 1
en su mando a distancia.

B SmartFrame (): Pulse durante 1
segundo para cambiar la funcién
SmartFrame entre los modos
Enmarcado Manual / Enmarcado Auto /
Encuadre preestablecido. de video. Se
mostrara un mensaje en la pantalla
(ilustracién siguiente) para indicar el
modo.

Mandel Framing

[Nota] SmartFrame despliega la
tecnologia de deteccion de cara y cuerpo.
Las personas que lleven mascarillas o
perfiles faciales laterales también podran

Espafiol-60



Espafiol-61

ser reconocidas. La distancia maxima de
deteccion es de 7 - 10 metros.

Configure los puntos predeterminados de
antemano (solo para los puntos
predeterminados O - 9. El valor
predeterminado O es para la posicién
inicial).



Instalacion de montaje en pared

1.

Use el papel de taladrado incluido en el paquete para taladrar los orificios en la pared donde el
usuario desea montar la camara.

Use los tornillos (no incluidos) para asegurar el soporte de montaje en L en la pared.
[Nota] Para pared de cemento: M4 x 4 tornillos autorroscantes de 20 mm + taco coénico de
plastico
Para pared de madera: M4 x 4 tornillos autorroscantes de 20 mm

A continuacién, instale los soportes + de montaje en L con 2 tornillos (M4 x 8 mm,
incluidos en el paquete).
Después de instalar los soportes de montaje en L, use los tornillos (no incluidos) para asegurar la
parte inferior de los soportes de montaje en L en la pared.
[Nota] Para pared de cemento: M4 x 2 tornillos autorroscantes de 20 mm + taco conico de
plastico
Para pared de madera: M4 x 2 tornillos autorroscantes de 20 mm
Pase los cables a través del orificios de los soportes de montaje en L y conecte los cables con los
puertos de conexion correspondientes.
Use los tornillos restantes (1/4” - 20 L = 7,5 mm, incluidos en el paquete) para asegurar la camara
en los soportes de montaje en L.

Espafiol-62



Realizar una videollamada

Se requiere un ordenador para utilizar este dispositivo.

1. Abra la aplicacién de colaboracién de video, como Zoom, Microsoft® Teams, Skype for Business,
Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans, V-Cube, LiveOn, CyberLink U
Meeting®, TrueConf, Adobe Connect, Cisco WebEx®, Fuze, GoToMeeting™, Microsoft® Lync™,
Vidyo, vMix, WebRTC, Wirecast o XSplit.

2. Configure la CAM520 Pro2 como su dispositivo primario de camara, micréfono y altavoz en su
aplicacion (consulte la guia de instalacion de la aplicaciéon para obtener mas detalles).

3. Preparado para realizar una videollamada.

[Nota] CAM520 Pro2 es una camara de conferencia de conectar y usar. El sistema no requiere de

controladores especiales. Para acceder a la configuracion avanzada y la actualizacion del firmware,

por favor descarguese PTZApp 2.

Realice la conexion a través del navegador

CAMS520 Pro2 tiene un puerto Ethernet para el streaming y permite a los administradores controlar y
configurar de forma remota la camara a través de internet. Ademas, CAM520 Pro2 también admite las
funciones RTSP y RTMP. Para obtener mas detalles, por favor consulte el manual del usuario o
pongase en contacto con nuestro soporte técnico.

1. Asegurese que la CAM520 Pro2 tenga conexion a internet.

2. Ejecute PTZApp 2* () y conecte la CAM520 Pro2 al ordenador con el cable USB.

You can plug in the USB directly to read the device locally.

Information

No device found

3. La direccion IP predeterminada de la camara es 192.168.1.168. Haga clic en el icono del lapiz

() para editar la direccion IP**.

Information

@ Device IP

DHCP

Static IP

Espafiol-63



4. Haga clic en el icono de enlace web (E) para ejecutar la pagina web de Chrome. Por favor,
introduzca la contrasefia (la contrasefia predeterminada es aver4321).

[Nota] Los navegadores soportados son:
e Chrome: version 76.x o superior e Firefox: version 69 o superior e |IE: No es compatible

5. Después de editar la direccion IP, el usuario puede acceder a la configuracion del acceso web de
la cdmara solo con la conexion del cable Ethernet. Desconecte el cable USB.
6. Se muestra a continuacion la pantalla principal de la web.

* En PTZApp 2, el usuario puede modificar la configuracién de la direccion IP de la CAM520 Pro2,
configurar los parametros de la camara, configurar las funciones de seguimiento Al y algunas
configuraciones avanzadas de imagen, como panoramica, inclinacion y el zoom de la camara.
Consulte el manual del usuario para conocer los detalles.

Por favor, vaya a https://www.aver.com/download-center (Sede Europera y Global) o

https://www.averusa.com/business/support/ (USA) para descargarse PTZApp2. Después de la

descarga, haga doble clic sobre el archivo y siga las instrucciones en pantalla para completar la
instalacion.
Después de instalar PTZApp2, haga doble clic en el icono PTZApp2 para ejecutar la aplicacién.

** Para dar soporte de los cambios de direccion IP en los grupos, el usuario puede descargarse la app
AVer IP Finder.
1. Descarguese el buscador de IP desde el enlace https://www.aver.com/download-center (Sede

Europera y Global) o en https://www.averusa.com/business/support/ (USA).
2. Ejecute el buscador IP.
3. Haga clic en “Buscar”, y todos los dispositivos disponibles apareceran listados en la pantalla.

Espafiol-64


https://www.aver.com/download-center
https://www.averusa.com/business/support/
https://www.aver.com/download-center
https://www.averusa.com/business/support/

@2021 AVer Information Inc. Todos los derechos reservados.

Mas ayuda
Para preguntas frecuentes, soporte técnico y descargas de software y manuales del usuario, visite:

https://www.avereurope.com/download-center

Informacion de contacto

Global Sede europea

AVer Information Inc. AVer Information Europe B.V.
https://www.aver.com https://www.avereurope.com

8F, No.157, Da-An Rd., Tucheng Dist., Westblaak 140, 3012KM, Rotterdam, Netherlands
New Taipei City 23673, Taiwan Tel.: +31 (0) 10 7600 550

Tel.: +886 (2) 2269 8535 Soporte técnico: EU.RMA@aver.com

Espafiol-65


https://www.avereurope.com/download-center
https://www.aver.com/
https://www.avereurope.com/
mailto:EU.RMA@aver.com

Pycckuni

Komnnekr nocraBkm

Kabenb USB 2.0

Apantep mutanuac | ,op 8 ysB-A»

Moaynb kamepbl Mynet OY
A4 g b A ceTeBOM BUJIKOW™

MepexopHou kabenb

RS232 «Mini DIN 9 - DIN e MoHTaXHble BUHTbI CaeprunbHuin

KPOHLUTENHbI WwabnoH

Y

M4 x 8 MM (2 WwT.)

TF

1/4 pronma - 20 L =
7,5 MM (2 wr.)

TanoH ¢
QR-kogom

* Bup ceTeBOW BUMKN 3aBMCUT OT TUMa CTaH4APTHOMN 3NEKTPOPO3ETKM B CTPaHe NPOAaxu yCTPOMCTBa.

Pycckuin -66



OCHOBHbIE 3JIeMEeHThbI

[ @“@/

Ar\?nnnr\nn

7
1 VHAamkaTop cOCTOAHUS 4 TlopT BBOAA/BLIBOAA 7 3amok
RS232 Kensington
2 WK-paTtumk 5 Pasbem nutaHus 12 B
(nocT.Toka)

3 MoptrUSB 3.1 (tvnaB) 6 [Mopt PoE*

* Power over Ethernet plus (PoE +), coBmectumbin ¢ IEEE 802.3AT / 802.3AF. Ncnonb3ynte kabenb
FTP CAT 5e (He BXoauT B KOMMIEKT).

KK vnagukartop

BknroyeHue: oguH pa3 MUrHET CUHUM
3anyck: roput KpacHbiM

OTKnoYeHUe BUAEO: CMIOLLIHOM OpaHXeBbIl
Buaeo Ha: cnfiowHon cnHumn

Pycckun -67



YcTraHoBKa

1. TMMopcoeanHUTe Kamepy K aneKTpopo3seTKe.

" Linyp nuTakus

2. TopknounTe HeobxoauMble kaGenu.

[MpumeyaHus]

B 3akpenuTe kabenn USB 1 RS232 BcTpoeHHbIMK
BUHTaMMU.

B [lepep 3akpenneHnem kabensi ybeamTech B
HaeXHOCTW noAcoeanHeHnst kabens Kk pasbemy
Kamepbl.

3. MoakniounTe Kamepy K
KOMNbIOTEPY/HOYTOYKY.

[MpumeyaHus]

B Vcnonb3ynTte kabenb USB 2.0, Bxogsawmn B
KOMIMIEKT NOCTaBKM.

B Kamepa CAM520 Pro2 nmeet nopt USB 3.1,
coBmecTumbiii ¢ USB 2.0.
Hwxe npuBeaeHbl Makc. paspeLleHne U CKopocTb
nepegayn kagpos ans noptos USB2.0 n USB3.1.

M-JPEG/ NV12/ Yuv/

yacrt. kagpos yacrt. kagpos YacT. kagpos

USB 2.0 | 1080@/60 k/c 720p@/10 k/c 720p@/10 k/c
480p@/30 k/c 480p@/30 k/c

USB 3.1 | 1080p@/60 k/c | 1080p@/30 K/c | 1080p@/30 K/c

Pycckun -68

""" kagens USB™




4. MNopknouuTte Kabenb RJ45 ansa
IP-TpaHCcnsiuMmM n ANCTaHLMOHHOTO
ynpaBreHusi KaMepomn.

[MpumeyaHus]

B YT106bI 06ecneunTb cTabuneHocTb IP-TpaHcnauum

KommyTatop / kommyTaTop PoE

BUAEO ncnonbayite kabenb FTP kateropumn 5e. e

_ Kabenb Ethernet
(He npunaraeTcs)

Pycckun -69



MynsT AY

Bbi6op kamepbl
BuG0p KaMEPH! |5 () | paogt
Z A
IxorncTuk
yrpaBneHus kamepoii
OKpaHHOEe MeHI0* B/
Bkn. 3Byk*
SmartFrame
YBenuunTs/YMeHbWUTh Ipomue/Tuie*
BbICTpbI BbI30B
YcTaBka yCTaBOK
Homep ycTasku
ApkocTs - SApkocTb +
Bbizos/OTBET OT60i

* He nognepxuBaetca ans CAM520 Pro2
B Bbartapeun AAA (Tpebytotcs)
B YctaBKa (): KHonka Preset (YcTtaBka) Ha

NynbTe BbIMOHAET 2 (OYHKLUUM.

CoxpaHeHue yCTaBKM - NEPEMECTUTE KaMepy

B HY>XHO€E nonoxeHue. MpuxMmTe KHOMKy
Preset (YcTaBka) 40 NosiBNeHUs1 Ha 3KpaHe
3anpoca Ha coxpaHeHue ycTaBku. Beibepute

HOMepP yCTaBKU 0-9ansa COXpaHeHusa Tekyllero

nonoxeHus kamepsl. Ecnu Tpebyetcs,
MOBTOPUTE yKa3aHHYto npoLeaypy.

3arpyska ycTaBKM - NpuxMmuTe KHOMKy Preset

(YctaBka) u kHonky Homepa yctasku 0 - 9 ans
3arpysKku COXpaHeHHOro NonoXeHUst Kamepsl.
Ecnu Tpebyetcs, noBTOpUTE YyKa3aHHyto
npoueaypy.

B [pwKMUTE KHOMKY C HOMEPOM «@» Ha 1
ceKyHAY, Y4ToObl BKIMHOYUTE UK BBIKMIOYNTL
dyHkunio WDR.

B [IpuKMUTE KHOMKY C HOMEPOM «@» Ha 1

ceKyHAy, Y4ToObl BKIMHOYUTE UN BBIKMIOYNTL
dyHKumo SmartFrame.

Pycckun -70

B [TpyxmMuUTe KHOMKY C HOMEPOM «»

Ha 1 cekyHAy, YTOObl BKMOYUTb Unn
BbIKMOYNTb (PYHKLMIO TpaHCAsLum
notoka RTMP.

Haxmute n yaepxmsante umdposyto
KHOMKY «@» B TeyeHue 1 cekyHabl,
4yTODObI KamMepa nepeLuna B CNSLLMNA
pexuM. OTO OTKIMIOYUT BCE NOTOKOBOE
BuAeo. Ytobbl pa3byauTb ero, CHoBa
HaXXMUTE KHOMKY Ha 1 ceKyHay vunu
HaXXMWUTE KHOMKY HanpasneHus. 3To He
paboTaeT, Noka BKIHYeHa NOToKoBast
nepegaya no USB.

BLi60p Kamephbl (@@@) Ecrmy
BacC TOMbKO OfjHa Kamepa v He
TpebyeTcs BbINOMHATL Kaknx-nmbo
HacTpoek, TorAa Mo yMonyaHuio
ucnonb3yetcs kamepa 1. Ecnu Bbl
BblibepeTe Ha nynbTe kKamepy 2 unm 3,
ynpaeneHne kKamepon ¢ nynesta
OKaXeTcsl HeBO3MOXHbIM. B aToM
cnyyae cnepyet CHOBa HaxaTb Ha
nynsTe KHOMKy kamepsl 1.
SmartFrame (): MprxmuTe Ha 1
CeKyHAY ANS NepekoyYeHns mexay
pexvumamu: Manual Framing (py4Hoe
kagpupoBaHue), Auto Framing
(aBTOKAppupoBaHue), Preset Framing
(MpepycTaHoBneHHoe kagpupoBaHve).
Ha akpaHe nosBuTcs coobLieHve o
BbIGpaHHOM pexunme (Kak nokasaHo Ha
pUCYHKaXx).

[Mpumeyanune] OyHkuma SmartFrame
MCMNOoMb3yeT anropuTMbl pacrno3HaBaHus
nvua un Tena. Takke obecnevnBaercs
pacnosHaBaHve nioaen B Mackax u

6okoBoro npoduns nuu. MakcumanbHas



Pycckun -71

[anbHOCTb OBHapyxXeHusa cocTaBnsaeTt
7-10 meTpoB.

3apaHee ycTaHoBUTE
npeaycTaHOBEHHbIE TOYKM (TONbKO Ans
npeaycTaHoBMEeHHbIX Toyek 1 - 9.
MpeaycraHoBka 0 npegHa3HaveHa Ans
VCXOAHOIO MONOXEeHNs).



HacTeHHbIX MOHTaX

1.

C nomoLwbo npunaraemoro ceeprnnbHOro wabnoHa npoceepnnTe B CTEHe KpenexXHble OTBepCTusa
B MeCTe KpenJieHUa Kamepbl.

C noMolLLpblo BUHTOB (HE NpunararTcs) NpUKpenuTe k cteHe [-06pasHblii KPOHLLTENH .
[Mpumevanne] [Ons uemeHTHoOMW cTeHbl: CamoHapesHblie BUHTbI M4 x 20 MM (4 wT.) +
nnacTuKoBble KOHWYeckue aobenn

Ons gpepeBsiHHONM cTeHbl: CaMoHapesHble BUHTbI M4 x 20 Mm (4 wT.)

3atem ckpenuTe -06pa3Hble KPOHLITEVHBI + AByMs BUHTamu (M4 x 8 MM, BXogsT B
KOMMMEKT MOCTaBKM).
Mocne c6opku M-06pasHbIX KPOHLUTENHOB, NMPUKPENUTE HIDKHWI [-06pasHbIi KPOHLLTENH K CTEHE C
NMOMOLLIbIO BUHTOB (He npunaratoTcst).
[MpuMeyanue] Ons uemeHTHOW cTeHbl: CamoHapesHble BUHTbI M4 x 20 MM (2 wT.) +
nnacTMKoBble KOHWYeckue abenu
[ns pepeBsiHHON cTeHbl: CaMoHapesHble BUHTbI M4 x 20 Mm (2 wT.)
MponycTute kabenu Yepes oTBepcTHe B [-06pPa3HOM KPOHLUTENHE U NOAKNIOUUTE UX K
COOTBETCTBYIOLLMM pa3bemaM Kamepbl.
C nomolupbto ocTaBLumxcs BUHTOB (1/4 atonma - 20 L = 7,5 mm, 13 KOMNekTa NocTaBku) 3akpenuTe
Kamepy Ha [-06pa3HbIX KPOHLUTENHAX.

Pycckun -72



NMpoeepeHue BupgeokoHcdpepeHUUM

[ins ucnonb3oBaHMsi 3TOr0 YCTPOWCTBA TpebyeTcs KoMMbloTep.

1. OTkpomnTe NpunoxeHne Ans NpoBeAeHNs BUOEOKOH(EepPeHUMI, Hanpumep Zoom, Microsoft®
Teams, Skype for Business, Skype, Google Meet, Intel® Unite™, RingCentral, BlueJeans,
V-Cube, LiveOn, CyberLink U Meeting®, TrueConf, Adobe Connect, Cisco WebEx?, Fuze,
GoToMeeting™, Microsoft® Lync™, Vidyo, vMix, WebRTC, Wirecast, XSplit.

2. B Bawem npunoxeHun yctaHosute CAM520 Pro2 B ka4ecTBe OCHOBHOWN KaMepbl, HACTponTe
MMWKPOMOH 1 YCTPOMUCTBO FPOMKOM CBA3M (CM. PYKOBOACTBO MO HACTPOWKE MPUIOXEHWS).

3. TogroToBbTech k NPOBeAEHUIO BUAEOKOH(EPEHLMN.

[Mpumeyanue] Kamepa CAM520 Pro2 - camoHacTpauBaemas koHdepeHu-kamepa. [ns paboTbl

cucTeMbl He TpebytoTcsi cneumarnbHble ApaiiBepsbl. [ns pacluMpeHHOW HaCTPOWKK NapamMeTpoB U

06HOBNEHNS MMKPOMpPOrpamMmmbl Heo6XxoaMMO ckadaTb npunoxeHve PTZApp 2.

YcTtaHoBKa coeamHeHun Yepe3 6paysep

Kamepa CAM520 Pro2 nmeet nopt Ethernet ans IP-TpaHcnsaumi, koTopein nossonset
agMUHUCTPaTopaM yaarneHHo ynpasnATh U HACTpauBaTb Kamepy Yepes MHTepHeT. Kpome Toro,
CAM520 Pro2 nopapepxwuBaeT dyHkuumn RTSP n RTMP. ina nonyyeHus 4ONONHUTENbHBLIX CBEAEHWUIA
NpoYTMTE PYKOBOACTBO MOMb3oBaTens Nnbo obpatuteck B Hally CnyxX0y TEXHUYECKOW NOAAEPXKKM.
1. Y6eputecb, yto kamepa CAM520 Pro2 nogkntoyeHa K MHTEPHETY.

2. 3anyctute npunoxeHue PTZApp 2* () 1 noacoeamHute CAM520 Pro2 k MK ¢ nomoLLbo
kabenst USB.

You can plug in the USB directly to read the device locally.

Information

No device found

Pycckun -73



3. basosbin IP-agpec kamepsbl: 192.168.1.168. [Ina pegaktupoBaHus IP-agpeca Haxmute Ha

N
3HaYOK «KapaHgaLl» ()**.

Information

@ Device IP

] DHCP

Static IP

Confirm

4. HaxmuTe Ha 3Ha4yoK Beb-coefMHEHMS (E) Ans 3anycka nporpammel Chrome. Beeante naponb
(naponb no ymonyaxuto: aver4321).

[MpumeyaHue] MNogaepkka Gpaysepos:
e Chrome: Bepcusa 76.x unu Beiwe @ Firefox: Bepcua 69 unu Boilwe  © IE: He
nogaepxvBaeTcst

5. TNocne yctaHoBku IP-agpeca Bbl MOXeTe NonMy4nTb AOCTYN K BED-MHTEpdency HacTpoek kKamepsbl
npuv Hanuuumu coeguHeHnsi no kadento Ethernet. OtcoeanHute USB-kabene.
6. OTKpoeTCsa OCHOBHOM 3KpaH BeBO-UHTEpdeENca, Kak NoKa3aHo HUXe.
[ PTZ Control
o
e

£ Notwork

Ah System

* MpunoxeHune PTZApp 2 no3BonsieT M3aMeHuUTb HacTpolky IP-agpeca CAM520 Pro2, HacTpausaTb
napameTpbl kamepbl, Al-yHKLUMM OTCNEXMBAHUA U PaCLUMPEHHbIE HACTPONKN N306paxKeHust,
KOHTPONMMPOBAaThb NMOBOPOT, HAKIOH 1 yBenuyeHue kamepbl. CM. pyKOBOACTBO MONb30BaTensl.
3arpysute npunoxerne PTZApp 2 ¢ cavta https://www.aver.com/download-center (MexayHapogHbie

1 eBponevickme ocuckl) unu https://www.averusa.com/business/support/ (8 CLUA). [iBaxabl HaXMuUTe

Ha daline 1 BbINOMHUTE YCTaHOBKY, CMEAyst UHCTPYKLMAM Ha aKpaHe.
Mocne yctaHoBku PTZApp 2 Bbl cMOXeETe 3anyckaTb NPUNoXeHne 4BONHBIM LENYKOM Ha 3Hauke
PTZApp 2.

Pycckun -74


https://www.aver.com/download-center
https://www.averusa.com/business/support/

** [INst NOAAEPXKM rpynnoBoi HacTponku IP-agpecoB HeobxoamnmMo 3arpy3uTb npunoxeHue AVer IP
Finder.
1. Barpysute npunoxenue IP Finder ¢ canta https://www.aver.com/download-center

(MexayHapogHble 1 eBponenckue oguckl) unu https://www.averusa.com/business/support (8
CLUA).
2. 3anyctute npunoxenwue IP Finder.

3. HaxwmuTte «Search» ([Mouck), nocne aToro Ha akpaHe 0TOGPA3UTCS CMUCOK BCEX OOCTYMHbIX
YCTPOWCTB.

©2021 AVer Information Inc. Bce npaBa 3alyLleHbl.

[OononHuTenbHas NOMoOLb
YT06bl 03HAKOMUTBLCS C OTBETAMU Ha YacTo 3a4aBaeMble BOMPOCHI, MOMY4YUTb TEXHUYECKYIO
noaAepXKy, 3arpy3ntb o6HoBrneHne MO unu pykoBoACTBO Nonb3oBaTens, noceTute Beb-caiT:

https://www.aver.com

KoHTakTHas nHdopmaums

Becb mup

AVer Information Inc.
https://www.aver.com

8F, No.157, Da-An Rd., Tucheng Dist.,
New Taipei City 23673, Taiwan

Tel: +886 (2) 2269 8535

EBponeiickas Wwrab-kBapTupa

AVer Information Europe B.V.
https://www.avereurope.com
Westblaak 140, 3012KM, Rotterdam, Netherlands
Tel: +31 (0) 10 7600 550
TexHuueckas nogaepxka EU.RMA@aver.com
Pycckui -75



https://www.aver.com/download-center
https://www.averusa.com/business/support
https://www.aver.com/
https://www.aver.com/
https://www.avereurope.com/
mailto:EU.RMA@aver.com

V2



